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QUESTION 1
Refer the exhibit.

000193: Dec 5 14:35:31.054: ISDN Se0/1/0:15 Q921 . User TX - -» SABMEp sapi=0 tei=0
000193: Dec 5 14:35:32.054: ISDN Se0/1/0:15 Q721 User TX -> SABMEp sapi=0 tei=0
000193: Dec'S 14:35:32.054: ISON $e0/1/0:15 Q921 User TX > SABMEp sapi=0 tei=0
000193: Dec 5 14:35:34.054: ISON Se0/1/0:15 Q923 Uier TX -> SABMEp sapi=0 tei=0

Given this "debug isdn g921" output, what is the problem with the PRI?

A. Noting, the PRI is sending keepalives.

B. PRI does not have an IP address configured on the interface.
C. Layer 1 is down on the controller.

D. Layer 2 is down on the controller.

Answer: D

QUESTION 2
Which capability is supported by Cisco Discovery Protocol but not by LLDP-MED?

A. LAN speed and duplex discovery
B. trust extension

C. location identification discovery
D. power discovery

E. network policy discovery

Answer: B

Explanation/Reference:

Cisco Discovery Protocol provides an additional capability not found in LLDP-MED that allows
the switch to extend trust to the phone. In this case, the phone is now trusted to mark the
packets received on the PC port accordingly. This feature can be used to off-load the switch

because now it does not need to police the information being received from the phone.

QUESTION 3

Which three Cisco Unity Connection call handler greetings can be overridden by the internal

greeting? (Choose three.)

A. alternate
B. holiday
C. error

D. busy



E. closed
F. standard

Answer: BEF

Explanation/Reference:
This greeting overrides the Standard, Closed, and Holiday greetings but only for internal callers

or users defined in Cisco Unity Connection.Because the mentioned three greetings are defined
for externals users.

QUESTION 4
Which access control group is required on an end user to allow Jabber to do deskphone mode?

A. Standard CTI Enabled

B. Standard CTI Secure Connection

C. Allow control of device from CTI

D. Standard CTI Allow Reception of SRTP key Material

Answer: A

QUESTION 5
Which issue can occur if QoS is not Deployed on a Cisco Collaboration architecture across the
WAN?

A. Excessive jitter

B. Packet fragmentation

C. 403 Forbidden errors on SIP calls

D. Unexpected shut-down on Cisco Unified Communications Manager

Answer: A
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